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12 « The Gas Laws

THE IDEAL GAS LAW

PV =nRT where
P = pressure in atmosphere
V = volume in liters
n = number of moles of gas
R = Universal Gas Constant = 0.0821 L-atm/mol-K
T = Kelvin temperature
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1. What is the pressure of 1.20 moles of SO, gas in a 4.00 L container af % 2
PvanizT
L. o
o 1.20met) (0.0821 =22 ) (303 k)
Pl , (120me) (0082 EEF) B
\'4 4.00 L
246

2. How many moles of oxygen will occupy a volume of 2.50 liters at 1.20 atm and 25-°C?
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3. What is the volume of 0.60 moles of helium gas at 502€-if the pressure is 600 torr?,, L’h 20.1P1¢9)4
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4. At what temperature will 1.80 moles of gas occupy 4.00 L if the pressure is 350 mmHg?, tah. . Yl 53
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5. Aballoon filled with helium has a volume of 1.30 L at 15°€ when the atmospheric pressure is 766-torr.
How many molecules of helium :'s’m the balloon? Zoo, 1= = 0,920 o4,
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What is 1he mass of a 300 mL sample of gaseous hydrogen chloride at 2.0 atm and 36°€? M
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What is the density of this sample?
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A 30.0 g sample of CH4 occupies 130-mL at 0°€ What is the pressure of this sample of gas?
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‘What volume (in liters) does a 85.0-g sample of" GC\;.gas occupy at 1.40 atm and 80°62
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‘What is the density of this gas?
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How many moles of an unknown diatomic gas are contained in a 500 mL container at 1.20 atm and 25°€?
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If this unknown diatomic gas has a mass of 0.93 g, what is the molar mass of the gas? What is the gas?
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